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Question ID:- 1

follow :
My job is special.....

2

+

Options:-

=1, Option ID :- 1,
= 2, Option ID :- 2,
» 3, Option ID :- 3,
= 4, Option ID :- 4,

Subject : GE_Q01-Q20_JA04MARSH2
Read the passage given below and choose the most appropriate option for the question that

1.  For most people, a job means they get up at 6 am and reach the workplace by 8 or 9 am.
Later, they have lunch at noon, and then they start work again at 2 pm. Finally, they finish
work at about 5 pm and then go home and have dinner with their families. That kind of a job
is okay for most people, but my job is special and I love it! I'm a commercial pilot.

2, That means I don’t drive to work, I fly! In fact, I fly to many different destinations in the
world and I have friends in many countries. Usually, I fly between countries in Asia, North
America and South America. It's not surprising, then, that my best friend lives in Japan and
we stay in touch by Facebook and e-mail. When I.am in Tokyo, he always invites me to have
dinner with him and his family. In fact, my favourite food is Sushi. Another good friend of
mine - Gustavo - live in Brasilia. That’s the capital of Brazil. Gustavo and I love to watch
football games together when I visit him. Is my job perfect? No, it's not. Because I fly across

many different ime zones, [ sometimes go to bed at 2 am. At other times, | go to bed at 2 pm.
That kind of schedule isn’t easy.

3. Inaddition, my job often separates me from my wife and two children. They live in NewYork
and often I am thousands of miles away. Sometimes I miss them very much. However, I
think I have an exciting job. And my kids think it's great that I can say ‘Hello!” in eighteen
different languages : “Ni hao’, ‘Konnichiwa’, “Bonjour’, “Anyoung haseyo’.

What is not correct about the life of a commercial pilot ?

(1) He can have a fixed time schedule.

He can have friends in many countries.

(2)
(3) He can say Hello! in different languages.
(4) He doesn’t have to drive to work.

Answer Given:- 1, Option ID : -1

Question ID:- 2
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Read the passage given below and choose the most appropriate option for the question that

follow :

My job is special.....

1.  For most people, a job means they get up at 6 am and reach the workplace by 8 or 9 am.
Later, they have lunch at noon, and then they start work again at 2 pm. Finally, they finish
work at about 5 pm and then go home and have dinner with their families. That kind of a job
is okay for most people, but my job is special and I love it! I'm a commercial pilot.

2, That means I don’t drive to work, I fly! In fact, I fly to many different destinations in the
world and [ have friends in many countries. Usually, 1 fly between countries in Asia, North
America and South America. It's not surprising, then, that my best friend lives in Japan and
we stay in touch by Facebook and e-mail. When I am in Tokyo he always invites me to have
dinner with him and his family. In fact, my favourite food is Sushi. Another good friend of
mine - Gustavo - live in Brasilia. That's the capital of Brazil. Gustavo and I love to watch
football games together when [ visit him. Is my job perfect? No, it's not. Because | ﬂy Across
many different ime zones, [ sometimes go to bed at 2 am. At other times, | go to bed at 2 pm.
That kind of schedule isn’t easy.

3.  Inaddition, my job often separates me from my wife and two children. They live in NewYork
and often I am thousands of miles away. Sometimes I miss them very much. However, 1
think I have an exciting job. And my kids think it's great that I can say "Hello!” in eighteen
different languages : ‘Ni hao’, ‘Konnichiwa’, ‘Bonjour’, ‘Anyoung haseyo’.

For most people who work, which time schedule stated below is not true.

(1) They reach home at around 5 pm.

( They wake up at 6 am.

(3) Work time finishes at 2 pm.

(4) Lunch time is at 12 noon.

Options:-

«1, Option ID :- 5,
« 2, Option ID :- 6,
« 3, Option ID :- 7,

= 4, Option ID :- 8,
Answer Given:- 4, Option ID : -8

Question ID:- 3

https://kvsexam04march23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolln0=22042190... 2/61
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Read the passage given below and choose the most appropriate option for the question that
follow :

My job is special.....
1.  For most people, a job means they get up at 6 am and reach the workplace by 8 or 9 am.
Later, they have lunch at noon, and then they start work again at 2 pm. Finally, they finish

work at about 5 pm and then go home and have dinner with their families. That kind of a job
is okay for most people, but my job is special and I love it! I'm a commercial pilot.

2, That means I don’t drive to work, I fly! In fact, I fly to many different destinations in the
world and [ have friends in many countries. Usually, 1 fly between countries in Asia, North
America and South America. It's not surprising, then, that my best friend lives in Japan and
we stay in touch by Facebook and e-mail. When I am in Tokyo he always invites me to have
dinner with him and his family. In fact, my favourite food is Sushi. Another good friend of
mine - Gustavo - live in Brasilia. That's the capital of Brazil. Gustavo and I love to watch
football games together when [ visit him. Is my job perfect? No, it's not. Because | ﬂy Across

many different ime zones, [ sometimes go to bed at 2 am. At other times, | go to bed at 2 pm.
That kind of schedule isn’t easy.

3.  Inaddition, my job often separates me from my wife and two children. They live in NewYork
and often I am thousands of miles away. Sometimes I miss them very much. However, 1
think I have an exciting job. And my kids think it's great that I can say "Hello!” in eighteen
different languages : ‘Ni hao’, ‘Konnichiwa’, ‘Bonjour’, “Anyoung haseyo’.

Read the following statements.

(A) The author flies between countries in Furope, Asia and North America.
(B) His best friend is a Japanese.

(C) He stays in touch with his best friend by Facebook and Instagram.

(1) (A) and (B) are incorrect, (C) is correct
(2) (A) and (C) are incorrect, (B) is correct
(3) (B) and (C) are incorrect, (A) is correct
(4) (B) and (C) are correct, (A) is incorrect
Options:-

«1, Option ID :- 9,
« 2, Option ID :- 10,
« 3, Option ID :- 11,

=« 4, Option ID :- 12,
Answer Given:- 4, Option ID : -12

Question ID:- 4

https://kvsexam04march23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolln0=22042190... 3/61



https://applink.adda247.com/d/XhqWf9lSap

Adda247

3/17/23, 3:36 PM Response Sheet

Read the passage given below and choose the most appropriate option for the question that
follow :

My job is special.....
1.  For most people, a job means they get up at 6 am and reach the workplace by 8 or 9 am.
Later, they have lunch at noon, and then they start work again at 2 pm. Finally, they finish

work at about 5 pm and then go home and have dinner with their families. That kind of a job
is okay for most people, but my job is special and I love it! I'm a commercial pilot.

[\.J

That means I don't drive to work, I fly! In fact, I fly to many different destinations in the
world and I have friends in many countries. Usually, I fly between countries in Asia, North
America and South America. It's not surprising, then, that my best friend lives in Japan and
we stay in touch by Facebook and e-mail. When I am in Tokyo, he always invites me to have
dinner with him and his family. In fact, my favourite food is Sushi. Another good friend of
mine - Gustavo - live in Brasilia. That's the capital of Brazil. Gustavo and I love to watch
football games together when I visit him. Is my job perfect? No, it's not. Because I fly across
many different ime zones, [ sometimes go to bed at 2 am. At other times, I go to bed at 2 pm.

That kind of schedule isn’t easy.

3.  Inaddition, my job often separates me from my wife and two children. They live in NewYork
and often I am thousands of miles away. Sometimes [ miss them very much. However, I
think I have an exciting job. And my kids think it's great that I can say “Hello!” in eighteen
different languages : ‘Ni hao’, ‘Konnichiwa’, ‘Bonjour’, "Anyoung haseyo’.

Apart from the hectic time schedule, the author doesn’t like his job because :

(1) He cannot watch a football match.

(2) He cannot fly to different destinations.

(3) He cannot have dinner with friends.

(4)

4 He is separated from his family.

Options:-

«1, Option ID :- 13,
« 2, Option ID :- 14,
« 3, Option ID :- 15,

= 4, Option ID :- 16,
Answer Given:- 4, Option ID : -16

Question ID:- 5

https://kvsexam04march23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Ro0lln0=22042190... 4/61
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Read the passage given below and choose the most appropriate option for the question that
follow :

My job is special.....

1. For most people, a job means they get up at 6 am and reach the workplace by 8 or 9 am.
Later, they have lunch at noon, and then they start work again at 2 pm. Finally, they finish
work at about 5 pm and then go home and have dinner with their families. That kind of a job
is okay for most people, but my job is special and I love it! I'm a commercial pilot.

2

That means I don't drive to work, I fly! In fact, I fly to many different destinations in the
world and I have friends in many countries. Usually, I fly between countries in Asia, North
America and South America. It's not surprising, then, that my best friend lives in Japan and
we stay in touch by Facebook and e-mail. When I am in Tokyo, he always invites me to have
dinner with him and his family. In fact, my favourite food is Sushi. Another good friend of
mine - Gustavo - live in Brasilia. That's the capital of Brazil. Gustavo and I love to watch
football games together when I visit him. Is my job perfect? No, it's not. Because I fly across
many different time zones, I sometimes go to bed at 2 am. At other times, I go to bed at 2 pm.
That kind of schedule isn’t easy.

3.  Inaddition, my job often separates me from my wife and two children. They live in NewYork
and often I am thousands of miles away. Sometimes [ miss them very much. However, I
think I have an exciting job. And my kids think it's great that I can say ‘Hello!” in eighteen
different languages : ‘Ni hao’, ‘Konnichiwa’, ‘Bonjour’, "Anyoung haseyo’.

The author’s kids think his job is great because :

(1) he can watch football matches in Brazil.

(2) he can sleep anytime he wishes.

(3) he can exchange pleasantries in different languages.

(4) he can have many friends in different countries.
Options:-

«1, Option ID :- 17,
=« 2, Option ID :- 18,
« 3, Option ID :- 19,

= 4, Option ID :- 20,
Answer Given:- 4, Option ID : -20

Question ID:- 6

Choose the word opposite in meaning to the word given in capital letters.

REBUKE

(1) familiar

(2) skeptical

(3) commend

(4) ignore
Options:-

=1, Option ID :- 21,
= 2, Option ID :- 22,
« 3, Option ID :- 23,

= 4, Option ID :- 24,
Answer Given:- 2, Option ID : -22

Question ID:- 7
https://kvsexam04march23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolln0=22042190... 5/61
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Among the four alternatives, select the words which are closest in meaning to the word given in
capital letters.

REMEDIATION
(1) finding a fault

(2) correcting a fault
(3) ignoring a fault
(4) repeating a fault

Options:-

=1, Option ID :- 25,
=« 2, Option ID :- 26,
= 3, Option ID :- 27,

= 4, Option ID :- 28,
Answer Given:- 3, Option ID : -27

Question ID:- 8

What does an ‘m‘chitect’usually design ?
(1) cartoons

(2) clothes

(3) buildings

(4) boats
Options:-

=1, Option ID :- 29,
= 2, Option ID :- 30,
= 3, Option ID :- 31,

= 4, Option ID :- 32,
Answer Given:- 1, Option ID : -29

Question ID:- 9

Select the appropriate idiom that completes the sentence.

Please that word in the dictionary.
(1) look at
(2) look up
(3) look out
(4) lookin
Options:-

«1, Option ID :- 33,
=« 2, Option ID :- 34,
=« 3, Option ID :- 35,

= 4, Option ID :- 36,
Answer Given:- 2, Option ID : -34

Question ID:- 10

https://kvsexam04march23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolln0=22042190... 6/61
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Complete the sentence with the appropriate option :

Yuvraj was groomed as an honest and respectful person, dishonesty is him.
(1) foreign to

(2) foreign as

(3) foreign of

(4) foreign with

Options:-

«1, Option ID :- 37,
« 2, Option ID :- 38,
=« 3, Option ID :- 39,

= 4, Option ID :- 40,
Answer Given:- 1, Option ID : -37

Question ID:- 11

Complete the sentence with the correct set of articles.
She bought _ hourglass, _inkpot and _ utility box yesterday.
(1) the, an, a

(2) an, a a
(3) a, an, the
(4) an, an, a
Options:-

=1, Option ID :- 41,
= 2, Option ID :- 42,
= 3, Option ID :- 43,

= 4, Option ID :- 44,
Answer Given:- 3, Option ID : -43

Question ID:- 12

Rearrange the words/phrases given below to form a meaningful sentence.
is no longer relished/home cooked food/healthy /by the youngsters.

() (b) ©) (d)

(D (d) (a), (b), ()
(2 (9, () (@) @)
(3)  (0) (d) (b), (a)
(4 (b), (@) () ()

Options:-

=1, Option ID :- 45,
= 2, Option ID :- 46,
= 3, Option ID :- 47,

= 4, Option ID :- 48,
Answer Given:- 2, Option ID : -46

Question ID:- 13

https://kvsexam04march23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&R0lln0=22042190... 7/61
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Identify the parts of speech of the underlined words in the given sentence.
For one week he managed to hide inside one of the dustbins.
(1) noun, verb.

2) adjective, preposition.

2

)
) adjective, adverb.
4)

(
(
( pronoun, preposition.
Options:-

«1, Option ID :- 49,

=« 2, Option ID :- 50,

= 3, Option ID :- 51,

= 4, Option ID :- 52,
Answer Given:- 3, Option ID : -51

Question ID:- 14

Choose the correctly spelt word.
(1) treatmeant

(2) pessenger
(3) ludicrous
(4) omineous

Options:-

«1, Option ID :- 53,
= 2, Option ID :- 54,
=« 3, Option ID :- 55,

= 4, Option ID :- 56,
Answer Given:- 1, Option ID : -53

Question ID:- 15

Complete the sentence with the correct form of the verb.

During the degree of information Technology it is understood that students will basic
online skills like freelancing and web development.

(1) learn to

(2) tolearn

(3) learn how

(4) learn
Options:-

«1, Option ID :- 57,
= 2, Option ID :- 58,
=« 3, Option ID :- 59,

= 4, Option ID :- 60,
Answer Given:- 1, Option ID : -57

Question ID:- 16

https://kvsexam04march23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolln0=22042190... 8/61
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Identify the correct word : Meaning pair.

(1) severe:mild

(2) rim:edge
(3) ripple : stand
(4) overturn : bridge

Options:-

=1, Option ID :- 61,
= 2, Option ID :- 62,
=« 3, Option ID :- 63,

= 4, Option ID :- 64,
Answer Given:- 1, Option ID : -61

Question ID:- 17

Identify the parts of the given sentence that are incorrect.
You have read from your books/that the world is/three-fourths water/and one-fourths land.

(a) (b) (©) (d)
(D (a), (d)
(2 (9 (@)
(3) (a), (b)
(4) (b) (d)
Options:-

=1, Option ID :- 65,
= 2, Option ID :- 66,
= 3, Option ID :- 67,

= 4, Option ID :- 68,
Answer Given:- 1, Option ID : -65

Question ID:- 18

Complete the sentence with appropriate pronouns.
The boy - met us in the hall is a good friend of

(1)  who, him
(2) that, us
(3) who, mine
(4) I mine
Options:-

«1, Option ID :- 69,
= 2, Option ID :- 70,
=« 3, Option ID :- 71,

= 4, Option ID :- 72,
Answer Given:- 2, Option ID : -70

Question ID:- 19

https://kvsexam04march23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&R0lln0=22042190... 9/61
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The adjectives in the given sentence are :

In the modern era the definition of an ideal student has drastically changed.
(1)
(2) modern, drastically
(3) ideal, qualities

(4)

definition, ideal

modern, ideal

Options:-

=1, Option ID :- 73,
= 2, Option ID :- 74,
« 3, Option ID :- 75,

= 4, Option ID :- 76,
Answer Given:- 2, Option ID : -74

Question ID:- 20

Insert the appropriate preposition to complete the sentence.

Neha was angry herself for making such a careless mistake.
(1) at

(2) with

(3) on

(4) about
Options:-

=1, Option ID :- 77,
=« 2, Option ID :- 78,
=« 3, Option ID :- 79,

= 4, Option ID :- 80,
Answer Given:- 4, Option ID : -80

Subject : GH_Q21-Q40 _JAO04MARSH2

Question ID:- 21

A= fU T TN St UgeRt Ted Tl faehed T Ta it -

stfeqear! faare =i i 9 %1 ®eF 8- 8 S 39 7, 9% fou wider €1 39 wem o e o ¥
TILITHE VHSHT =T 919 a2 H HiSel @k of 9§ 91 1 gl §1 599 o797 oty &6t T gegH
for, a7 o1r 9% | 39 gfie W oieX i fada #1 vegs FH § e e §9 ¥ 5eER T

F S g9 % 30k foau uffer g1 = wue frmam €2

(1) =i vt =
(2) == Uil 9
(3) == Uid §E
(4) S Ui 9
Options:-

=1, Option ID :- 81,
= 2, Option ID :- 82,

=« 3, Option ID :- 83,
https://kvsexam04march23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolln0=2204219... 10/61
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= 4, Option ID :- 84,
Answer Given:- 2, Option ID : -82

Question ID:- 22

=frer o T TR R UgeRt Ted TE faeRed s S it -

stfeqear! faare =i i 9 %1 %eF £ 8 S 39 T, 9% fou wider €1 39 wem o men o ¥
Traret it 1 e Siia=-=rs § w5feel a6 o SH § o1l w1 Ee 81 foEn o1 ofier 5 e veeE
forn, o o1 57 T 2 gfie 9§ sfew ) fama #1 v # § o i ®9 § 92 2

TEIST % STTHR 794 @8 i Wt F&l L Tehdl € -

(1) oo T 2R S o evE €

(2) St ST HSA B AR GaHRRd ¥
(3) fo@m syost i = vewm faan g
(4) S TRt off e stoe e Frere o @
Options:-

=1, Option ID :- 85,
= 2, Option ID :- 86,
= 3, Option ID :- 87,

= 4, Option ID :- 88,
Answer Given:- 3, Option ID : -87

Question ID:- 23

A= fU TTT TN St UgeRt Ted TEl faehed T TaT ShiTag -

stfeearl faare =i Ui 9 %1 FeA 8- 8 Sl $o T, 39 fou uider €1 39 Fu = Teu oy ¥
TR3THE! VIHT =T e Saw—m § HSe 7o of S H 3 =1 9l 81 e o iR 5 FE A v
forem, =% o1 9% T 29 gfe | sfex ) fieaa 1 meE 9 § o v §9 # 9eER B

TR % STER AHE 9 -

(1) SeA-=mn o s & 9 §

(2) F© o 7 T YT AL

(3) SfET ~ AT H1 HiST T T

(4) =af =1 TS T T § e S e
Options:-

«1, Option ID :- 89,
=« 2, Option ID :- 90,
= 3, Option ID :- 91,

= 4, Option ID :- 92,
Answer Given:- 4, Option ID : -92

Question ID:- 24

https://kvsexam04march23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolln0=2204219... 11/61
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el feu T TenyT st ugeht Wad Wl faehed SRt 99 shita -

stfeqear! faare =i i 9 %1 ®eF 8- 8 S 39 7, 9% fou wider €1 39 wem o e o ¥
TITHS VLS T 919 S H Hieel ao of 9 8§ SR 5 g 71 f59a o sfew 5t o ueeH
form, o o1r 9% | 39 gfie W oiew i fada #1 vegs FuH § wwen ffved ®9 ¥ geER g

TR o STER ‘T R Feermar’ | A @ -

(1) e

(2) @A

(3) WA

(4) HHARE 319E
Options:-

=1, Option ID :- 93,
= 2, Option ID :- 94,
=« 3, Option ID :- 95,

= 4, Option ID :- 96,
Answer Given:- 2, Option ID : -94

Question ID:- 25

e fou 7T =N i UgRt e Wl faehed T TE whifeg -

stfgeaaet foames =i uia 91 &1 weF & CF S %9 §, SuF fau i €1’ 59 Fue @ Tew ol ¥
Age Vet w1 g Steq-ar | A6 a5 o S H SR 1 91t 81 A o ofiar i FHT S gee
T, 918 AR &g T 2H g | et whi Neaan &l qeqd 0 J el HivEd §9 9 5egR B

‘e 9Ig 1 T 9IS § -

(1) =ref

(2) AEESR

(3) HEHH

(4) HEH
Options:-

=1, Option ID :- 97,
= 2, Option ID :- 98,
=« 3, Option ID :- 99,

= 4, Option ID :- 100,
Answer Given:- 4, Option ID : -100

Question ID:- 26

‘St e st T’ & forw U v § -

(1) WA
(2) &M
(3) ==
(4) =

https://kvsexam04march23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolln0=2204219... 12/61
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Options:-

=1, Option ID :- 101,

= 2, Option ID :- 102,

= 3, Option ID :- 103,

= 4, Option ID :- 104,
Answer Given:- 4, Option ID : -104

Question ID:- 27

‘i T HEE Y § -

(1) BRSH
(2) HeM™e | &
(3) SR T
(4) HAT <hiAl

Options:-

«1, Option ID :- 105,
= 2, Option ID :- 106,
= 3, Option ID :- 107,

= 4, Option ID :- 108,
Answer Given:- 4, Option ID : -108

Question ID:- 28

‘U w1y G ATCl TEl St wirhie 1 8§ -
(1) &I =i QT 38T

(2) TEE I < SR

(3) Toert % wE

(4) SFI Ul %S9 BE

Options:-

=1, Option ID :- 109,
= 2, Option ID :- 110,
= 3, Option ID :- 111,

= 4, Option ID :- 112,
Answer Given:- 4, Option ID : -112

Question ID:- 29

‘e’ T e T E -
(1) <9
(2) Tfume
(3) T I i
(4) 3™
Options:-

«1, Option ID :- 113,

https://kvsexam04march23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolln0=2204219... 13/61
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= 2, Option ID :- 114,
=« 3, Option ID :- 115,

= 4, Option ID :- 116,
Answer Given:- 1, Option ID : -113

Question ID:- 30

‘R, o, Hrer, g1 w6 1Y < 9l Uk § -

(1) -7
(2 ®R
(3)
(4 =
Options:-

=1, Option ID :- 117,
= 2, Option ID :- 118,
= 3, Option ID :- 119,

= 4, Option ID :- 120,
Answer Given:- 2, Option ID : -118

Question ID:- 31

‘ sreafires 9ot % o T v ® -
(1) iy gfte
(2 e

(3) sifagfe

(4) eI
Options:-

=1, Option ID :- 121,
= 2, Option ID :- 122,

= 3, Option ID :- 123,

= 4, Option ID :- 124,
Answer Given:- 3, Option ID : -123

Question ID:- 32

‘G- iR gew &1, - S @ o wm ' o TEARR T
(1) ¥Th
(2) 9=
(3) THH
(4) T
Options:-

=1, Option ID :- 125,
= 2, Option ID :- 126,

https://kvsexam04march23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolln0=2204219...

14/61



https://applink.adda247.com/d/XhqWf9lSap

Adda247

3/17/23, 3:36 PM Response Sheet

= 3, Option ID :- 127,

= 4, Option ID :- 128,
Answer Given:- 1, Option ID : -125

Question ID:- 33

Feddamo=s? -
(1) ™4
(2) dren
(3) uEd
(4 TE
Options:-

«1, Option ID :- 129,
= 2, Option ID :- 130,
= 3, Option ID :- 131,

= 4, Option ID :- 132,
Answer Given:- 2, Option ID : -130

Question ID:- 34

Frrefered & & TevE T § -
(1) fuea

(2) =g

(3) HIIA

(4) PRIA
Options:-

=1, Option ID :- 133,
= 2, Option ID :- 134,
= 3, Option ID :- 135,

= 4, Option ID :- 136,
Answer Given:- 2, Option ID : -134

Question ID:- 35

() %[+ ™
(2) 4+ "™
(3) T+ ™
(4) 3d + TH
Options:-

=1, Option ID :- 137,
= 2, Option ID :- 138,
=« 3, Option ID :- 139,
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= 4, Option ID :- 140,
Answer Given:- 1, Option ID : -137

Question ID:- 36

‘o + S Termen dfy fa=ig § 2

(1) TR
(2) AR
(3) aTHEW
(4) @rE
Options:-

=1, Option ID :- 141,
« 2, Option ID :- 142,
« 3, Option ID :- 143,

= 4, Option ID :- 144,
Answer Given:- 3, Option ID : -143

Question ID:- 37
Freafafea § 9 og T § -
(1) =9 oIifd s |
(2) &8 WId: A gl 8 |
(3) oI ATHHT 1 T2 |
(4) O% gIe H =adl gl

2

Options:-

=1, Option ID :- 145,
= 2, Option ID :- 146,
= 3, Option ID :- 147,

= 4, Option ID :- 148,
Answer Given:- 4, Option ID : -148

Question ID:- 38

“YiieRE | T 08 o fauE ® -
(1) ¥ | 7

(2) Wi H T

(3) i H A

(4) ek & HRU A

Options:-

«1, Option ID :- 149,
= 2, Option ID :- 150,
=« 3, Option ID :- 151,

= 4, Option ID :- 152,
Answer Given:- 2, Option ID : -150
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Question ID:- 39

Freafafaa § 9 Sifdn s ¢ -
(1) <o

(2) TETS

(3) =

(4) Tt

Options:-

=1, Option ID :- 153,
= 2, Option ID :- 154,
= 3, Option ID :- 155,

= 4, Option ID :- 156,
Answer Given:- 1, Option ID : -153

Question ID:- 40

‘gredl’ ol WS SgEeH 9§ -
(1) =i
(2) =l
(3) @fer
(4) 7Y
Options:-

=1, Option ID :- 157,
=« 2, Option ID :- 158,
=« 3, Option ID :- 159,

= 4, Option ID :- 160,
Answer Given:- 1, Option ID : -157

Subject : GK_Q41-Q60_JA04MARSH2

Question ID:- 41

In which state of India has the World Health Organisation (WHO) opened its first Global Centre

for traditional medicines ?
(1) Maharashtra

(2) Uttar Pradesh
(3) Gujarat
(4)

4) Haryana
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d o forg T ¥ fave @ Hed (S=.04.80L ) 3 TRvafiss qarsdi & fau vgen dfvas g | & ?
(1) Hewrg
(2) I YW
(3) TSR
(4) =REmm
Options:-

«1, Option ID :- 161,
=« 2, Option ID :- 162,
=« 3, Option ID :- 163,

= 4, Option ID :- 164,
Answer Given:- 4, Option ID : -164

Question ID:- 42

Which country is placed at rank 1 in the World Economic Forum’s Global Gender Gap
Index - 2022 ?

(1) Finland

(2) Iceland

(3) Norway

(4) New Zealand

ge8 SHAIHS BH F THTd Sl 19 T=a - 2022 H @[ 91 29 gais ToH W ?

(1) fFacie

(2) AREAE

(3)

(4 =fiass
Options:-

=1, Option ID :- 165,
=« 2, Option ID :- 166,
=« 3, Option ID :- 167,

= 4, Option ID :- 168,
Answer Given:- 1, Option ID : -165

Question ID:- 43

Which of the following countries was not a part of the Quad Summit-2022, held in Tokyo ?

(1) India

(2) Australia

(3) United States of America
(4) United Kingdom
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Frafafaa <o 9 =F @ <9 29 H gu ' 96T wHie- 2022 @1 fewm =@ o1 2
(1) 9Ra

Options:-

«1, Option ID :- 169,
=« 2, Option ID :- 170,
« 3, Option ID :- 171,

= 4, Option ID :- 172,
Answer Given:- 3, Option ID : -171

Question ID:- 44

The Principal Bench of the Securities Appellate Tribunal is located at :
(1) New Delhi

(2) Kolkata
(3) Pune
(4) Mumbai

qfayfd s7dte =t (Sgifes srdiee fgoa) & g 99 @ ¢

(1) 8 feo
(2)  ShicTehTl
(3

(4) H=E

Options:-

«1, Option ID :- 173,
« 2, Option ID :- 174,
= 3, Option ID :- 175,

= 4, Option ID :- 176,
Answer Given:- 1, Option ID : -173

Question ID:- 45

Which of the following statement/s is/are correct about International Investment Bank ?
(A) It is an international organisation registered with United Nations Secretariat.

(B) It's headquarter is located in Moscow.

Select the correct answer using the code given below :

(1) (A) only

(2) (B) only

(3) Both (A) and (B)

(4) Neither (A) nor (B)
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‘TvAd TaREE= O o enE . F fawy § frafafed § @ wR-9F w e wE § 2
(A) TE T ST WIS §, S 99 U Afeaed § fafia 7

(B) T AT HIEH H ¥

e feu MY FE H YA FH WE I P T FL

(1) e (A)

(2) a (B)

(3) (A) ¥R (B) T

4) (A) &R (B) H I &
Options:-

=1, Option ID :- 177,
= 2, Option ID :- 178,
« 3, Option ID :- 179,

= 4, Option ID :- 180,
Answer Given:- 3, Option ID : -179

Question ID:- 46

Which of the following statement/s is/are not correct ?

(A) Windows and Linux are names of operating systems.

(B) Among the Windows and Linux, only windows is an operating system.
Select the correct answer using the code giiren below :

(1) (A) only

(2) (B)only

(3) Both (A) and (B)

(4) Neither (A) nor (B)

Frafafed wael 7 J # o FF 98 76 82

(A) foem iR e sfen faen % w21

(B) faem oIk emévem 9, fak fass ws sifafen fawn 7
= QU 7T e =1 JEE T F HWE S Hl =L

(1) < (A)

(2) A (B)

(3) (A) ¥R (B) <l

4) (A) @R (B)H = T
Options:-

=1, Option ID :- 181,
= 2, Option ID :- 182,
« 3, Option ID :- 183,

= 4, Option ID :- 184,
Answer Given:- 2, Option ID : -182
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Question ID:- 47

List - I contains names of institutes. List - II contains places where they are located. Which of the
following pairs in List - I is not correctly matched with pairs List - II :

List - 1 List - IT
(Institutes) (Places)
(1) National Institute of Immunology i New Delhi
(2) National Aids Research Institute : Mumbai
(3) Centre for Cellular and Molecular Biology Hyderabad
(4) Indian Institute of Chemical Technology : Hyderabad

el - 1 H Heensfl % A € gl - 1F 57 Sl & Am ol & feem €1 gt - 1eiRgER -1 # fRw
7ol § § i T gifad 78 # 2

Tl - 1 Tl - 10

(W) (T )
(1) et wfarenfasm geem ;8 ot
(2) T TSH STNUN HeAH ;g
(3) HIRER wd soifas Safaee $g ¢ gelER
(4) TG TP AT Heem :  oEER
Options:-

=1, Option ID :- 185,
= 2, Option ID :- 186,
=« 3, Option ID :- 187,

= 4, Option ID :- 188,
Answer Given:- 3, Option ID : -187

Question ID:- 48

Which of the following statement/s is/are correct about United Nations Framework Convention
on climate change (UNFCCC) COP-27 [conference of Parties], held in November-2022 ?

(A) The Convention aimed at scaling up finance to transform agriculture by 2030.
(B) An agreement was reached on a new Five-year plan on agriculture and food security.

Select the correct answer using the code given below :

(1) (A) only

(2 (B)only
(3) Both (A) and (B)
(4) Neither (A) nor (B)
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TAE-2022 H HAAISd FAECS 96 FHEH FavH A FAEHe o= (. TA.UEHLHLEL) el -27
(Fh9r 31T gter) & o H frafafe 8§ 9 #9360 @ 97 @ 872

(A) Y 1 3ES¥T 2030 9% HU H agaE & fog facia gemd § 98l & g
(B) &l U4 @ e W U 73 G A 9 U gHeid A g w9 feem w)
e fSU 7T e 1 TR Tk a3 H I FL

(1) <hae (A)

(2) “hae (B)

(3) (A) R (B) <l
(4) (A) 3R (B) H #E T
Options:-

=1, Option ID :- 189,
« 2, Option ID :- 190,
« 3, Option ID :- 191,

= 4, Option ID :- 192,
Answer Given:- 1, Option ID : -189

Question ID:- 49

Match the historical events under List - T with the year of occurance under List - II :

List - I List - IT
(Historical events) (Year)
A) Foundation of Asiatic Society (I) 1784
(I) 1793

C) Supreme Court set-up in Calcutta by the East India Company (III) 1818
D) British take over of the Deccan (IV) 1773
Select the correct answer using the code given below :

(4) B (O (D)

(
(B) Enactment of the Cornwallis Code
(
(

L @O @ @) @)
(2) (I am avy @
3 @O @@ @) ()
4) 1 ) @ @
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et - 1 ¥ fau 7u Tfaerfes seed & et - 11 H fu 7 39 =fed 29 & ad § gaferd =i
Tl - 1 gt - 10

( Wfrerfren wremd) (ard)
(A) Tfrafes HEES S T () 1784
(B) ehianferd Hfgen =1 sifufraem (I) 1793
(C) % Ffean Feort gN shetshedl H SHAH = i L&A (1) 1818
(D) Tafest gra gaepm =1 erfemem Iv) 1773

e TS 7T e 1 TIAT Fh Fal S ol =997 L
(A) ®B) (O (D)

1 @O @@ [ av)
2 I I av) @
3 @O @ @)
4 I av) @ I
Options:-

=1, Option ID :- 193,
= 2, Option ID :- 194,
=« 3, Option ID :- 195,

= 4, Option ID :- 196,
Answer Given:- 1, Option ID : -193

Question ID:- 50

In which year did Britain recognize United States Of America (USA) as an independent country ?
(1) 1778

(2) 1781
(3) 1788
4) 1791

o 99 {927 ¥ TN (FARSE Red SA1F STHUH) T Th W0 o3 o &9 H qAFd ol 8 7

(1) 1778
(2) 1781
(3) 1788
(4) 1791

Options:-

=1, Option ID :- 197,
=« 2, Option ID :- 198,
=« 3, Option ID :- 199,

= 4, Option ID :- 200,
Answer Given:- 4, Option ID : -200

Question ID:- 51
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Arrange the following historical events in the correct chronological order, placing the earliest
event at first in the sequence :

(A) 13th Amendment to the American Constitution that outlawed slavery.
(B) Passing of the U.S Civil Rights Act banning racial discrimination.

(C) Assassination of U.S. Civil Rights leader, Martin Luther King,

Select the correct answer using the code given below :

(W) (A) (B), (O
(2)  (B), (©), (A)
3 (O, (A) (B)
(4) (A (©), (B)

Had QAT w2 F H H Tad Tgel T@d gu fefafed taefas sesl @ 98 wersd § g9
(A) sTafeRt dfgyum § 13387 Geiem, 59 S/ wen it -t Sifa foman

(B) srifER § A sifumr Frem =1 sifufrm €, o Tefta Sgvma W wftsis @

(C) eHfant Afer sifusrrl o gear wifed g fhm =i g

== fU 7T e 1 AR Lk el I H FIA HL

(1) (A) (B), (O

(2 (B), (©), (A)
(3) (O, (A), (B)
(4 (A) Q) (B)
Options:-

=1, Option ID :- 201,
= 2, Option ID :- 202,
= 3, Option ID :- 203,

= 4, Option ID :- 204,
Answer Given:- 3, Option ID : -203

Question ID:- 52

Who has been conferred upon Indian Council of Cultural Relations (ICCR) Distinguished Indologist
Award for 2021 ?

(1) Devdutt Pattanaik
(2) G.S Ghurye

(3) Inden Ronald

(4) Jeffery Armstrong
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=9-2021 = feq st giepfas gy uftg (aE.ddten.) fafoe yrafes quer 9 62 gt
IERIRIDI ¥

(1) <Eew Y
(2) siod. gRe
(3) Ted s
(4) S STHERT
Options:-

«1, Option ID :- 205,
=« 2, Option ID :- 206,
= 3, Option ID :- 207,

= 4, Option ID :- 208,
Answer Given:- 1, Option ID : -205

Question ID:- 53

Which of the following statement is not correct ?

(1)  High Courts in India have the Power to issue certain Writs.

(2) The Supreme Court of India has also an Advisory Jurisdiction.

(3) While Supreme Court of India is a court of record, High Courts are not Courts of record.
(4)

4) A Judge of a High Court may resign his office by writing under his hand addressed to the
President.
Frefafad wumi § 9 @ FyF 9d 74 €2

(1) ¥R H =9 el 1 $9 e Sl & i oifed 96 |

(2) NG % HaTs AREE Sl Th SRS SRR 2

(3) WaEfF YRG 1 A= A Tk Aorg e §, 39 FEed Aferd e T@l F )
(4)

4) T AT F1 Fis AR w2ufd o a9 ener 9fed o gR1 S99 98 0 T Gahdl
gl

Options:-

=1, Option ID :- 209,
= 2, Option ID :- 210,
= 3, Option ID :- 211,

= 4, Option ID :- 212,
Answer Given:- 3, Option ID : -211

5

Question ID:- 54

Which of the fol]owing statements is not correct about the censure motion with regard to the
Parliament of India ?

(1) A censure motion need not have a ground or a reason on which it is based.

(2) This motion is moved for specific purposes.
(3) It can be moved against the Council of Ministers.
(4) It can also be moved against an individual minister.
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I ! HHg o -y § 1 wsma & 9 | fefaiad sy | 9 @ @ 98l T8 § 2
(1) e e % fore fodt smem =1 R =1 €1 STEvs e )

(2) =8 v fafere seewE & fau wmn s g
(3) F& T uRug % foreg o S Hehell €1

(4) a8 Topdl Uk w3l o foreeg i & ST 9ehdi 2 |
Options:-

=1, Option ID :- 213,
= 2, Option ID :- 214,
= 3, Option ID :- 215,

= 4, Option ID :- 216,
Answer Given:- 1, Option ID : -213

Question ID:- 55

Which of the following statements is not correct about the Public Accounts Committee of the
Parliament of India ?

(1) This Committee is assisted by the Comptroller and Auditor General of India.
(2) Members of this Committee are solely drawn from the Lok Sabha.
(3) Members of this Committee are drawn from both Houses.
(4) The Comptroller and Auditor General of India is not a member of this Committee.

9Rd % TG %I diw o 9fafd % 9n ¥ e s 8§ d @ g@h T w2
(1) =9 wfafq = TRA % FEF 16 geeie e i1 werd I a6 2

(2) =9 gfafa ¥ fak e e @ & gew fog o €)
(3) =& wfufd ¥ G HeHl ¥ wew fog S € |
(4) G & Feek i erera wiare 38 ufbfa % gewr e 2 ¥

Options:-

«1, Option ID :- 217,
= 2, Option ID :- 218,
=« 3, Option ID :- 219,

= 4, Option ID :- 220,
Answer Given:- 3, Option ID : -219

Question ID:- 56

Which of the following languages is not in the Eighth Schedule of the Constitution of India ?

(1) Mathili

(2) Santhali
(3) Konkani
(4) Ladakhi
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Frefafead wrmell § -t g vra F diaus w1 sneel g § e 8 2
(1) Hfereft
(2) Ul
(3) il
(4) e

Options:-

=1, Option ID :- 221,
= 2, Option ID :- 222,
= 3, Option ID :- 223,

= 4, Option ID :- 224,
Answer Given:- 4, Option ID : -224

Question ID:- 57

Consider the following statements :
(A) Desertis an example of a biome.
(B) Coral reef is an example of acquatic ecosystem.

Which of the above statement/s is/are correct ? Select the correct answer using the code given
below :

(1) (A) only

(2)  (B) only

(3) Both (A) and (B)
(4) Neither (A) nor (B)

frafafad waal W) foar &1 :

(A) TERIE FEH 1 TH e ¢ |

(B) varet fufe siefta wiftdst =1 ua JaTem g

ST FUA H F hF-hA T WA ® 2 A U T Fe w1 gAN FF HWE ST HFIH B

(1) < (A)

(2) e (B)

(3) (A) 3IR (B) Sl

(4) (A) 3 (B) H & i
Options:-

«1, Option ID :- 225,
« 2, Option ID :- 226,
= 3, Option ID :- 227,

= 4, Option ID :- 228,
Answer Given:- 2, Option ID : -226

Question ID:- 58
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Which of the following types of volcanoes are the most explosive of the earth’s volcanoes ?
(1) Shield volcanoes

(2) Composite volcanoes

(3) Calderas
(4)

4 Flood Basalt Provinces

Trefafad saremgE gRi § ¥ gt 1 9 ST 9oy foehes saamet #iE 9§ 2
(1) Toee sarergEt

Options:-

=1, Option ID :- 229,
« 2, Option ID :- 230,
« 3, Option ID :- 231,

= 4, Option ID :- 232,
Answer Given:- 1, Option ID : -229

Question ID:- 59

Who, among the following, is not a winner of Arjuna Award - 2022 ?
(1) Seema Punia

(2) Eldhose Paul
(3) Lakshya Sen
(4) Shikhar Dhawan

Tyefafad § | & 15[ TR 2022 % fasm 78 €2

(2) UcsEH Ui

(3) @& G

(4) TorEr &=
Options:-

«1, Option ID :- 233,
=« 2, Option ID :- 234,
=« 3, Option ID :- 235,

= 4, Option ID :- 236,
Answer Given:- 2, Option ID : -234

Question ID:- 60
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Which of the following statement/s is/are correct ?

(A) Tarun Dhillon is a para badminton player.

(B) Swapnil Sanjay Patil has won a national award for para shooting.
Select the correct answer using the code given below :

(1) (A) only

(2) (B)only

(3) Both (A) and (B)
(4) Neither (A) nor (B)

ffafed 4 9 wF @ FgT W 2 2

(A) &Y feeem T Sefie %t faens! €

(B) T@ftAet Hera wifed 7 9 gfén & foe ws g gwR it #
A= T 7T e 1 ART T ok Wel I 1 = Hifd ;

(1) ad (A)

(2) a9 (B)

(3) (A) IR (B) <l

(4) (A) S (B)H & g off &
Options:-

=1, Option ID :- 237,
= 2, Option ID :- 238,
=« 3, Option ID :- 239,

= 4, Option ID :- 240,
Answer Given:- 3, Option ID : -239

Subject : LR_Q61-Q80_JA04MARSH2

Question ID:- 61

In the following question there is certain relationship between two given words on left side of (: :)
and one word is given on another side of (: :) while another word is to be found from the given
alternatives, having the same relation with this word as the given pair has. Select the logically
correct alternative.

Goitre : Iodine : : Rickets :

(1) Vitamin A

(2) Vitamin C
(3) Vitamin D
(4) Vitamin B,
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Frfafad we () % aPi Sl fow mu 3 wedi 3 wen fifes dei & 3l (o) % gud @i us v e
# wafr gt U9 v 1 o Tu faekedi § ¥ T e o Sy ved et g S @1 ke 5
ferehed =h1 AT hifSTT |

(1) feerfm A

(2) Tearfa C (=)

(3) Teerf = D (2N

(4 foerfm By, (&)
Options:-

=1, Option ID :- 241,
= 2, Option ID :- 242,
=« 3, Option ID :- 243,

= 4, Option ID :- 244,
Answer Given:- 2, Option ID : -242

Question ID:- 62

Find the next term of series :

5, 23, 59, 119, 209; 335, ?

(1) 464
(2) 485
(3) 503
(4) 525

guit 5, 23,59, 119, 209, 335, ? W WA U T0E hiiod|

(1) 464
(2) 485
(3) 503
(4) 525
Options:-

«1, Option ID :- 245,
= 2, Option ID :- 246,
= 3, Option ID :- 247,

= 4, Option ID :- 248,
Answer Given:- 2, Option ID : -246

Question ID:- 63
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Aman told Nisha by pointing to a photograph, “She is the only daughter of only child of your
mother’s grandmother”. How is Nisha related to the women in photograph ?

(1) Grand daughter

(2) Daughter
(3) Mother
(4) Niece

ST 3 T FIETE B W B gu T 1 aa, ¢ qredt o @ et wAE w5 el w5
Thardt T g1’ e w1 wEnE el afgen ¥ w2 gey § 2

(1) e

2

(3

(4) WSt
Options:-

=1, Option ID :- 249,
« 2, Option ID :- 250,
« 3, Option ID :- 251,

= 4, Option ID :- 252,
Answer Given:- 2, Option ID : -250

Question ID:- 64

The following question consists a group of letters in which all of them except one, share a common
similarity. Select the odd one.

ZA, VE, Rl, J]Q, LO;El

(1) FU
(2 JQ
(3) RI

4) ZA

T oo | s1edl o1 wgE 2, f59H e 1 B2 o 9 | 9aE gasd &1 fawe 1 g
ZA, VE, Rl, JQ, LO, FU

fly (Bl
(2 JQ
(3) RI
4) ZA
Options:-

«1, Option ID :- 253,
=« 2, Option ID :- 254,
=« 3, Option ID :- 255,

= 4, Option ID :- 256,
Answer Given:- 2, Option ID : -254
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Question ID:- 65

letter series ?

XY_ZX_X_ _ Yx_x_xz

(1) xyzxyz
(2) xyzxzy
(3) xzyxyz
(4) xxyyzz

forg o1erii o HATSH & 1R 1 U & =18 U Wiell TIF W W@ § & 78 S1erl i it gof 2t 2

XY ZX X _YX X_XZ

(1)  xyzxyz
(2) xyzxzy
(3)  xzyxyz
(4) xxyyzz
Options:-

=1, Option ID :- 257,
= 2, Option ID :- 258,
= 3, Option ID :- 259,

= 4, Option ID :- 260,

Answer Given:- 4, Option ID : -260

Which sequence of letters when placed at the blanks one after another will complete the given

Question ID:- 66

Find the next term of series.
BV, ES, HP, KM, NJ, _?

(1) QI
(2) RI
(3) QG
4 RH

guit BV, ES, HP, KM, NJ, _? ¥ 37Tel U8 J1d hiford |

(1) QI
(2) RI
(3) QG
(4) RH
Options:-

=1, Option ID :- 261,
= 2, Option ID :- 262,
=« 3, Option ID :- 263,

= 4, Option ID :- 264,
Answer Given:- 3, Option ID : -263
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Question ID:- 67

If in a certain code language ‘JOY' is written as ‘iknpxz’ then how will “TIP” be written in that

language ?
(1) svjkoq
(2) rsghmn
(3) srhjnq
(4) suhjoqg

7fg ww Ff¥ea s 9 # JOY’ # ‘iknpxz’ foman S &, & 5w F TIP  H feran s ?
(1) svjkog

(2) rsghmn

(3) srhjng

(4) suhjoq
Options:-

=1, Option ID :- 265,
= 2, Option ID :- 266,
« 3, Option ID :- 267,

= 4, Option ID :- 268,
Answer Given:- 3, Option ID : -267

Question ID:- 68

‘Atom’ is related to ‘Molecule’ in the same way as “‘Cell’ is related to which of the following ?

(I) Organ
(2) Plant
(3) Tissue
(4) DNA

S gEE) 6 ey )’ 9 8, 36 yehr wifreR’ w Hey e 0 feed R0

(1) &

(2) e

(3) AH

4 STy
Options:-

«1, Option ID :- 269,
= 2, Option ID :- 270,
= 3, Option ID :- 271,

= 4, Option ID :- 272,
Answer Given:- 4, Option ID : -272

Question ID:- 69
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The following question consists a group of numbers in which all of them except one share a common
similarity. Select the odd one:

13, 23,43, 53; 63, 73,83

(1) 23
(2) 63
(3) 53
(4) 83

= oA | demnsii &1 99 B, 59t #l Sies 9t § uue guwua 1 faum @ gam #ifs)
13, 23, 43, 53, 63, 73, 83

(1) 23
(2) 63
(3) 53
(4) 83

Options:-

=1, Option ID :- 273,
« 2, Option ID :- 274,
« 3, Option ID :- 275,

= 4, Option ID :- 276,
Answer Given:- 1, Option ID : -273

Question ID:- 70

Choose that set of numbers from the following four alternatives given below, which is similar to
the given set ?

(4, 64, 10)

(1) (8,512, 8)
(2) (7,294, 6)
(3) (6,252, 9)
4) (9,81,9)

Fafafed =r dwfeas den w98l 5 9 39 Hemsll & 9y & 9y, i fF e e 99 4, 64, 10)
HAEY B |
(1) (8,512, 8)

(2) (7,294, 6)
(3) (6,252, 9)
(4) (9 81, 9)
Options:-

=1, Option ID :- 277,
=« 2, Option ID :- 278,
= 3, Option ID :- 279,
= 4, Option ID :- 280,
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Answer Given:- 1, Option ID : -277

Question ID:- 71

If 'Px Q" means ‘P is the mother of Q’, P#Q means ‘Q is the wife of P* and P%Q means ‘Q is the
brother of P’ then what does M % N # O XS mean ?

(1) Sisthesonof M

(2) N is the father of S

(3) M is the uncle of O

(4) M is the brother of N and O

fe PxQ =1 4 ‘P, Q&I |l &/, P#Q T ¢l ‘Q, P #hi Uell § * 2 P%Q =1 74 ‘Q, P 1 WE &’ dI
M % N # O xS 3 319 &1 & ?

(1) S, M@&IYA LI

2 N,S ®fummg

(3) M, O & iFd 2l

(4) M, N RO IE T

Options:-

=1, Option ID :- 281,
= 2, Option ID :- 282,
= 3, Option ID :- 283,

= 4, Option ID :- 284,
Answer Given:- 1, Option ID : -281

Question ID:- 72

In the following question, a series is given, with one term missing, Choose the correct alternative
from the given ones that will complete the series.

B120X, F99U, J80OR, , R48L, V351, Z24F

(1) M64N
(2) N630
(3) M630
(4) N64M

9 weq | ws 9oit < T 2, o ue e fagw B 1 few T Sefeusni § 9 wEl o6 g s e 4ol s ol
HAT |
B120X, F99U, J8OR, , R48L, V351, Z24F

(1) M64N
(2) N63O
(3) Me630
(4) N64M
Options:-

«1, Option ID :- 285,
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=« 2, Option ID :- 286,
= 3, Option ID :- 287,

= 4, Option ID :- 288,
Answer Given:- 1, Option ID : -285

Question ID:- 73

In a certain code language ‘CAT" is coded as 57 and ‘CAR’ is coded as 59. How will ‘FAT’ be
coded as in that language ?

(1) 51

(2) 54

(3) 55

(4) 61

T Y=g FE 9T H ‘CAT &1 18 57 AR 'CAR & HIS59 T 1 T 91 HFAT &1 i 31 BN ?
(1) 51

(2) 54

(3) 55

(4) 61
Options:-

«1, Option ID :- 289,
=« 2, Option ID :- 290,
= 3, Option ID :- 291,

= 4, Option ID :- 292,
Answer Given:- 4, Option ID : -292

Question ID:- 74

In the following question a word is given followed by four words formed by using the letters of the
given word except one. Find that particular word.

EDUCATION
(1) AUCTION
(2) DACOIT
(3) NATION
(4) CAUTION

e wea § U vss fon o § forrr o = wes fou g €, o w1 Siee at fRu o wes & s
% IUFM G T A Thd § | 39 fafire vee & 3m wifam)

EDUCATION
(1) AUCTION
(2) DACOIT
(3) NATION
(4) CAUTION
Options:-
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«1, Option ID :- 293,
=« 2, Option ID :- 294,
=« 3, Option ID :- 295,

= 4, Option ID :- 296,
Answer Given:- 3, Option ID : -295

Question ID:- 75

The following question consists a group of words in which all of them except one, share a common
similarity. Select the odd one.

(1) Bangaluru

(2) Chandigarh
(3) New Delhi

(4) Bhuvneshwar

91 yea ¥ okl o1 9B 2, foed ue #i Sge ueft § 99 weEud ¢ | fawm &1 gAe e |
(1) =TIE

(2 =g

(3) ¢ fawet

(49 R
Options:-

=1, Option ID :- 297,
=« 2, Option ID :- 298,

= 3, Option ID :- 299,

= 4, Option ID :- 300,
Answer Given:- 1, Option ID : -297

Question ID:- 76

In the following question there is certain relationship between two given numbers on left side of
(: ) and one number is given on another side of (: :) while another number is to be found from the
given alternatives, having the same relation with this number as the given pair has. Select the
logically correct alternative.

T:294::5:7
(1) 100
(2) 194
(3) 200
(4) 204
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Frefafad wem () % 9t v § . < et | v fAfveg g6y € o :) % gl 9iR u gen §
2 s gl U e 1 feu u Sewfeen § B 9@ e # forgem deiy 39 Hen § ued 9 g 99
TeRE T TE fashed 1 FAE hifs |

Fr204::5 7
(1) 100

(2) 194

(3) 200

(4) 204
Options:-

«1, Option ID :- 301,
= 2, Option ID :- 302,
= 3, Option ID :- 303,

= 4, Option ID :- 304,
Answer Given:- 3, Option ID : -303

Question ID:- 77

In the following question each given letter has been numbered :
A D N S u Y
I 2 3 4 B 6

Choose the option which gives the correct order of the letters as indicated by the numbers to form
a meaningful word.

(1) 234561
(2) 345612
(3) 453216
(4) 531246

TIF PR & fu = wea 4 v e dl M ©

A D N S u Y

1 2 3 4 5 6

39 Tosreq =1 =@ IS i T fou 1T sient 9 s12dqvf O &M o T s1ei & Tl s ol ffee s
K

(1) 234561
(2) 345612
(3) 453216
(4 531246
Options:-

«1, Option ID :- 305,
=« 2, Option ID :- 306,
= 3, Option ID :- 307,

= 4, Option ID :- 308,
Answer Given:- 4, Option ID : -308

Question ID:- 78
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The following question consists a group of words in which all of them except one, share a common
similarity. Select the odd one.

Bachelor, Spinster, Bachelorette, Widow, Widower, Married, Divorcee
(1) Bachelor

(2) Married
(3) Widower
(4) Divorcee

T o | v=si o u w2, o e o) Srea it | wue wnEaa €1 favd 1 gAe St )

(1) Afeafza

(2) W

(3) faux

(4) dcirehel
Options:-

«1, Option ID :- 309,
=« 2, Option ID :- 310,
= 3, Option ID :- 311,

= 4, Option ID :- 312,
Answer Given:- 3, Option ID : -311

Question ID:- 79

There are set of words given in the following question. Choose the option which can be put after
the set of words to make all of them meaningful words.

RECIT, RECIP, INVOK, EXAMINE

(1) E
(2) IST
(3) H
(4) OR

T wea F wrsdl o1 W femn mn ® 1 39 fasen 1 g whifstg, s few T wrssi o wE % ae H feren
X i 1 Y] 91eg T |
RECIT, RECIP, INVOK, EXAMINE

(1) E
(2) IS8T
(3) H
(4 OR
Options:-

=1, Option ID :- 313,
= 2, Option ID :- 314,
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=« 3, Option ID :- 315,

= 4, Option ID :- 316,
Answer Given:- 1, Option ID : -313

Question ID:- 80

Rearrange the unorganised letters to form meaningful words and then choose the one which is
different from others.

(1) NIKP
(2) BUEL
(3) RNOC
(4 EGENR

Fegareyd Stardl o1 YA: SHafd # sefyuives SRy SR R 39 gAme Hifae S fh o= 4 fa= 2

(1) NIKP
(2) BUEL
(3) RNOC
(4) EGENR

Options:-

=1, Option ID :- 317,
« 2, Option ID :- 318,
« 3, Option ID :- 319,

= 4, Option ID :- 320,
Answer Given:- 3, Option ID : -319

Subject : CL_Q81-Q100_JA04MARSH2

Question ID:- 81

Which of the following is not an input device ?
(1) OMR Reader

(2) Mic

(3) Touchpad

(4) Plotter

=HH ¥ 1 U 39S IS R 82
(1) SAHsR fee

(2) HRH

(3) =T

(4) TR
Options:-

=1, Option ID :- 321,
= 2, Option ID :- 322,
=« 3, Option ID :- 323,
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= 4, Option ID :- 324,
Answer Given:- 4, Option ID : -324

Question ID:- 82

Which of the following is the largest memory unit in the given options ?
(I) Exabyte

(2) Peta Byte
(3) Mega Byte
(4) Giga Byte

Fr=fafed § @5 o fawey duew #t 994 981 3k 8 7
(1) TSRS
(2) TSRS
(3) H SEE
(4) fmeEe

Options:-

«1, Option ID :- 325,
« 2, Option ID :- 326,
= 3, Option ID :- 327,

= 4, Option ID :- 328,
Answer Given:- 4, Option ID : -328

Question ID:- 83

Which of the following is an Open Source Operating System ?

(1) MacOS

(2) UNIX

(3)  Android

(4) MS Windows

(2 I

(3) UsHEs

(4) THTH fHEE
Options:-

«1, Option ID :- 329,
=« 2, Option ID :- 330,
=« 3, Option ID :- 331,

= 4, Option ID :- 332,
Answer Given:- 2, Option ID : -330
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Question ID:- 84

is an Antivirus software ?

(1) Winzip

(2) MS Excel

(3) Mcafee

(4) TUX Paint

% T TR T

(1) fa=fsg

(2) A TR

(3) HeUH

(4) =9 U2

Options:-

=1, Option ID :- 333,
= 2, Option ID :- 334,
« 3, Option ID :- 335,

= 4, Option ID :- 336,
Answer Given:- 1, Option ID : -333

Question ID:- 85

Jones De is interested in creating a project report on a document using an open source software,
which of the following will you suggest for the same ?

(1) Impress

(2) Calc
(3) MS Word
(4) Writer

S 2 U g B (S G TiRaa o e | Uk U fIurE o Yo e =R € | Y 3% 3

H 1 ITAN FLH hl FeATg ol ?
(1) 59

(2) e

(3) THUH EE

(4) WX
Options:-

«1, Option ID :- 337,
« 2, Option ID :- 338,
=« 3, Option ID :- 339,

= 4, Option ID :- 340,
Answer Given:- 3, Option ID : -339
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Question ID:- 86

Garvit Siya is planning to connect 15 office computers using Ethernet Cable. Which one of the
following devices should he use for the same ?

(1) Switch
2) Booster
3) HDMI Splitter

(
(
(4) Repeater

Tifeld foa suRAe ar & HisgH § FEied & 15 R WSl 96 § | 3% 394 § R I3 &1 9l
=few ?

(1) fe=
(2 oI
(3) TEEITHAE fEfae
(4) T
Options:-

«1, Option ID :- 341,
=« 2, Option ID :- 342,
=« 3, Option ID :- 343,

= 4, Option ID :- 344,
Answer Given:- 2, Option ID : -342

Question ID:- 87

Which of the following ports is used to connect ethernet cable on a PC/Laptop ?

(1) RJ45
(2) USB
(3) VGA
(4) HDMI

U HERYEIRT ¥ 3O 9 Sien & foau e & form w1 v S § 7

(1) RJ45
(2) USB
(3) VGA
(4) HDMI
Options:-

=1, Option ID :- 345,
= 2, Option ID :- 346,
= 3, Option ID :- 347,

= 4, Option ID :- 348,
Answer Given:- 2, Option ID : -346

Question ID:- 88
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Which of the following is a number system that has its base as 2 ?
(1) Decimal

(2) Binary
(3) Hexadecimal
(4) Octal

TH g 91 Uk G JUTel &, Torgen smar 2 %2

(1) <Sfaaa

(2) @R

(3) TS

(4) iFd
Options:-

=1, Option ID :- 349,
= 2, Option ID :- 350,
« 3, Option ID :- 351,

= 4, Option ID :- 352,
Answer Given:- 1, Option ID : -349

Question ID:- 89

is not a file extension of an video file.

(1) mp4

(2) pdf

(3) Avi

(4) mov

& g9 (Sifedl) WEe 1 FEd TS T8l © ¢

(1) mp4

(2) pdf

(3) Avi

(4) mov
Options:-

=1, Option ID :- 353,
= 2, Option ID :- 354,
« 3, Option ID :- 355,

= 4, Option ID :- 356,
Answer Given:- 1, Option ID : -353

Question ID:- 90
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Which of the following is the correct full form of VOIP ?

(1) Voice over Internetwork Protocol
(2) Video over Internet Protocol

(3) Voice over Internet Protocol

(4) Voice on Internet Protocol

TTH & o Srefiendt w1 sfaa wnfeas ovef § 2
(1) =98 SHE getieash YIeehic

(2) dfifed st g2t Ul

(3) ETEE A L Wi

(4) STFH A e YRk
Options:-

=1, Option ID :- 357,
= 2, Option ID :- 358,
« 3, Option ID :- 359,

= 4, Option ID :- 360,
Answer Given:- 4, Option ID : -360

(D

LI

(2)
(3)
(4)

Question ID:- 91

Which of the following can not be reported under cyber crime ?

Lending an empty hand disk drive for transfer of data

Accessing someone’s online account without his/her permissions
Posting rumours on social networking sites

Sharing porn video on whatsapp groups

=0 9 foFg gEat 190y & d&d g9 T8l fhar S Tehdl ?

(1) ST1 THia % fau aret are-fewn ¢

(2) Torddt & stgmfa & fom 3T siiene @ <E

(3) TR FeafhT R W HAFAR et

(4) SRCHUH HHEI H HAIATA TS HIS HEAl
Options:-

«1, Option ID :- 361,
=« 2, Option ID :- 362,
=« 3, Option ID :- 363,

= 4, Option ID :- 364,
Answer Given:- 1, Option ID : -361

Question ID:- 92
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Which of the following key on the keyboard on a PC used to change arrow keys to act as

numbers ?

(1) Caps lock
(2) Num lock
(3) Print screen
(4) Shift

T FHERL FEe 1 e i () % meaw 4 fen e (whets) 1 dend foga % fa w@m e s

Hehd1 8 ?

(1) & @
(2) M @i%
(3) Tz =RM
(4) o
Options:-

=1, Option ID :- 365,
« 2, Option ID :- 366,
« 3, Option ID :- 367,

= 4, Option ID :- 368,
Answer Given:- 4, Option ID : -368

Question ID:- 93

Which combination of keys help us to cut the selected text in any word processing software ?

(1) CTRL+C
(2) CTRL+T
(3) CTRL+X
(4 CTRL+U

o€ YHTHT Hiveamw H ford wiee wiidehe Ssil o 91 | =afd foifad | = e () S § 2

(@) CIRLC
(2) CIRL+T
(3) CIRL+X
(4) CTRL+U
Options:-

=1, Option ID :- 369,
« 2, Option ID :- 370,
« 3, Option ID :- 371,

= 4, Option ID :- 372,
Answer Given:- 2, Option ID : -370

Question ID:- 94
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Which of the following option is not available as paragraph alighnment in MS Word ?

(1) Left
(2)  Justify
(3) Centre
(4) Top

TTH G i W1 foshiey THUH 9% & ST WEn § U T § 7

(1) %

(2) STEEE

(3) H:

(4 =
Options:-

=1, Option ID :- 373,
= 2, Option ID :- 374,
« 3, Option ID :- 375,

= 4, Option ID :- 376,
Answer Given:- 2, Option ID : -374

Question ID:- 95

Which of the following is incorrect way to add values stored in cells C1, C2, C3, C4 and C5 of a
excel sheet?

(1) =C1+C2+C34C4+C5
(2) =SUM(CI, C2, C3, C4, C5)
(3) =ADD(C1, €2, C3, C4, C5)
(4) =SUM(CI : C5)

Trfefad § 9 A 1 fosred U T 3ie % C1, C2, C3, C4 3R C5 el H Hufed qodi &l Siig- 1 Tl
IRl T8 & 7

(1) =Cl1+C2+C3+C4+C5

(2) =SUM(C1, C2, C3, C4, C5)

(3) =ADD(Cl1, C2, C3, C4, C5)

(4) =SUM(C1 : C5)

Options:-

«1, Option ID :- 377,
= 2, Option ID :- 378,
=« 3, Option ID :- 379,

= 4, Option ID :- 380,
Answer Given:- 3, Option ID : -379

Question ID:- 96
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Which of the following is not an internet browser ?

(1) Safari
(2) Mozilla Firefox
(3) Edge
(4) MS ACCESS
70 U 91 Ueh $2EE SIS el & 7
(1) FER
(2) HIFSTEN EPERE R
3) W
(4) THCH THEE
Options:-

=1, Option ID :- 381,
= 2, Option ID :- 382,
« 3, Option ID :- 383,

= 4, Option ID :- 384,
Answer Given:- 4, Option ID : -384

Question ID:- 97

Which of the following is incorrect about web address ?
(1) Can have alphabets

(2) Can have digits

(3) Can have dot(.) symbol

(4)

4) Can have @ symbol

3§ 91 Uk 99 USH o Hed o 9d e 82
(1) =58 3vi 8 9 &

(2) THH HeA & Hehdl ®

(3) TEH T () o= d aFa R
(4) sHH@Ta=d Hhde
Options:-

«1, Option ID :- 385,
=« 2, Option ID :- 386,
=« 3, Option ID :- 387,

= 4, Option ID :- 388,
Answer Given:- 4, Option ID : -388

Question ID:- 98
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Which of the following is not a correct option available for writing sender’s email in any emailing
tool/software ?

(1}, to
(2) tec
(3) bce
(4 «cc

=8 § ®F 91 fasey fadt off S0 SueorEiRam § 99 & 399 I o 91 & ged § we =i §2

(1) to
(2) tec
(3) bce
(4) «cc
Options:-

«1, Option ID :- 389,
« 2, Option ID :- 390,
= 3, Option ID :- 391,

= 4, Option ID :- 392,
Answer Given:- 3, Option ID : -391

Question ID:- 99

Which of the following is correct full form for FTP ?

(1)  File Terminal Pretocol

(2) File Transfer Protocol

(3)  Full Transfer Protocol

(4)  File Transmission Protocol

=8 ¥ 1 (FIP) ThIdt 1 3faa wnfsgsh a19f © -
(1) e 2fHTe dremnld

(2) A JHE R

(3) Hel ZHW Wkl

(4) R JEHIA YRk
Options:-

«1, Option ID :- 393,
=« 2, Option ID :- 394,
= 3, Option ID :- 395,

= 4, Option ID :- 396,
Answer Given:- 2, Option ID : -394

Question ID:- 100

https://kvsexam04march23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolln0=2204219... 49/61



https://applink.adda247.com/d/XhqWf9lSap

Adda247

3/17/23, 3:36 PM Response Sheet

Which of the following is the most appropriate to access a particular webpage on a website ?
(1) Domain Name

(2) IP Address

(3) Web Address

(4) URL

70 § %F 91 foshey uF dedree W uF fafire aeus 9% vgaq & fau ged 3wy © 2

(1) ETHA &1 AH
(2 IPTSH
(3) F9TgH
(4) URL
Options:-

=1, Option ID :- 397,
= 2, Option ID :- 398,
« 3, Option ID :- 399,

= 4, Option ID :- 400,
Answer Given:- 2, Option ID : -398

Subject : QA_Q101-Q120 _JAO04MARSH?2

Question ID:- 101

[ 1_21J+§0f§_10f£><§_1
The value of 3 2 6 8 4 3 4 8 is
5 B> 4
e == =onf =
5 3 5
19
1 il
(1) AL
1
2 = )
(2) =
29
3 pecic:)
(3) o
5
4 e
(4) 53
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[31_21)+§w§_2mixé_1
3 2) 8 6 3 4 4 B8 wHuHd
8,442
B b 3
19
1 i
(1) AL
£
2 —
(2) =
29
3 e
(3) 5
5
4 —
(4) 53
Options:-

=1, Option ID :- 401,
« 2, Option ID :- 402,
« 3, Option ID :- 403,

= 4, Option ID :- 404,
Answer Given:- 3, Option ID : -403

Question ID:- 102

Which smallest number should be added to 996 to make it a perfect square ?

(1) 24
(2) 28
(3) 34
(4) 38

996 H =JTaH -4l HeAl Sl S foh 3 T ol o = S ?

(1) 24
(2) 28
(3) 34
(4) 38
Options:-

«1, Option ID :- 405,
=« 2, Option ID :- 406,
= 3, Option ID :- 407,

= 4, Option ID :- 408,
Answer Given:- 1, Option ID : -405

Question ID:- 103
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Let x be the least number of 5-digits, which when divided by 12, 16, 35 and 84, the remainders are
4, 8, 27 and 76, respectively. The sum of the digits of x is :

(1) 9

2) 10
3) 11
(4) 13

x 98 5 - 3 Hea & 69 12, 16, 35 3R 84 ¥ 9T S 9 9% HHT: 4, 8,27 376 I B1d Blx ok

Fieh1 =T & AT § 2

() 9

(2) 10

(3) 11

(4) 13
Options:-

«1, Option ID :- 409,
=« 2, Option ID :- 410,
= 3, Option ID :- 411,

= 4, Option ID :- 412,
Answer Given:- 4, Option ID : -412

Question ID:- 104

A seven digit number 7x59448 is divisible by 72. What is the value of x ?
(1) 4

2) 6
3) 7
4 8

U HM TR T 7059448 &1 72 § fa9=a &1 x =1 9° 01 &2

(1) 4
(2) 6
(3) 7
(4) 8
Options:-

«1, Option ID :- 413,
= 2, Option ID :- 414,
= 3, Option ID :- 415,

= 4, Option ID :- 416,
Answer Given:- 2, Option ID : -414

Question ID:- 105
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The value of

3 3
(5'6)2 i {3'5]2 is : (correct to one decimal place)
(5.6)° — (3.5)

(1) 9.1

(2) 114

(3) 122

4 125
(5.6}3 + {3.5)2 1 L (Reied ¥ us s ae Hd)
(5.6)° — (3.5)
(1) 9.1

(2) 114

(3) 122

(4 125
Options:-

=1, Option ID :- 417,
= 2, Option ID :- 418,
=« 3, Option ID :- 419,

= 4, Option ID :- 420,
Answer Given:- 4, Option ID : -420

Question ID:- 106

A television was sold for X 6,160 at a gain of 12%. Then, the gain on the television was :

(1) T 640.00
(2) % 650.60
(3) % 660.00
(4) T 739.20

e 2fafasy 1 12% & @Y W T 6,160 H o<1 791 | 99, 39 fafasH o€ oy o :

(1) I 640.00
(2) T 650.60
(3) T 660.00
(4) I 739.20
Options:-

=1, Option ID :- 421,
= 2, Option ID :- 422,
=« 3, Option ID :- 423,

= 4, Option ID :- 424,
Answer Given:- 1, Option ID : -421

Question ID:- 107
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Annual income of A is 25% more than that of B. How much percent is annual income of B less
than that of A ?

(1) 16%
2) 18%
(3) 20%
4 25%

A I AIftfsh 29 B &1 aifter 2™ T 25% e &1 B @il aiftss 3™ A it aifte s 9 o wfave &d
22

(1) 16%
(2) 18%
(3) 20%
(4) 25%
Options:-

«1, Option ID :- 425,
=« 2, Option ID :- 426,
= 3, Option ID :- 427,

= 4, Option ID :- 428,
Answer Given:- 4, Option ID : -428

Question ID:- 108

By selling an article at % of its selling price, a man loses 32%. If he sells it at the original selling

price, his profit percent will be :

(1) 40%
(2) 45%
(3) 55%
4) 60%

T Sl 1 32% 1 B et § ﬂﬁﬁ@ﬂﬂﬁ?ﬂ%ﬁaﬂq@%% T AT € | AfE 9% I F T
ARTY fashd Hed I o4, a1 34 Wiaed o 2 -

(1) 40%
(2) 45%
(3) 55%
(4) 60%
Options:-

«1, Option ID :- 429,
=« 2, Option ID :- 430,
= 3, Option ID :- 431,
= 4, Option ID :- 432,
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Answer Given:- 4, Option ID : -432

Question ID:- 109

A trader bought some apples at 15 for I 157.50 and an equal number of apples at 10 for T 126. He
sold all the apples at 12 for I 184.80. What is his profit percent ?

(1) 25%

2
2) 302%
(2) .

1
3 = %
(3) 33 3

(4)  35%

ot =t 3 F® A9 T157.50 H 15 w1 T 9 IR 399 € Fa 2126 H 10 F L Wl 1 39 A 9 TE
T184.80 H 12 = 3 H o4 fau | 3weh! foha gfaera any gam 2

(1) 25%
2
2 30 = %
(2) :
i}
3) 33=-%
(3) 33 =
(4) 35%
Options:-

«1, Option ID :- 433,
« 2, Option ID :- 434,
=« 3, Option ID :- 435,

= 4, Option ID :- 436,
Answer Given:- 2, Option ID : -434

Question ID:- 110

A sum of ¥ x is divided between A, B and C such that the ratio of shares of A and Bis 3: 5 and that
of Cand Bis 3 ;7. If the difference between the shares of A and C is ¥ 1,320, then what is the value

of x ?

(1) 15620
(2) 16540
(3) 16420
(4) 15740

T x I TH UM H A, B IRCH 39 WhR &iel S & foF A 3R B & wrii § 3 : 5 %1 31{9W § 3R C A2 B
F i H 37 % 3 §19fE A SIRCH it § T 1,320 1 AR E, A x B HA FNE 2

(1) 15620
(2) 16540
(3) 16420
(4) 15740
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Options:-

=1, Option ID :- 437,

= 2, Option ID :- 438,

=« 3, Option ID :- 439,

= 4, Option ID :- 440,
Answer Given:- 2, Option ID : -438

Question ID:- 111

If ¥ : y=2z: x and 8_1;?"=z, then (5x +3y) : (3x—y) is equal to :

(1) 4:1
2) 13:5
(3) 33:17
4 9:4

?Tﬁl‘zzymz Dx ad 8};2=z S ??I(Sx+3y) 1 (Bx—y) IS g

(1) 4:1
(2) 132 h
(3) 33117
(4) 9:4
Options:-

=1, Option ID :- 441,
= 2, Option ID :- 442,
= 3, Option ID :- 443,

= 4, Option ID :- 444,
Answer Given:- 4, Option ID : -444

Question ID:- 112

There are three numbers such that if the average of any two of them is added to the third number,
the sums obtained are 36, 28 and 41, respectively. What is the average of the three given

numbers ?
(1) 16.5
(2) 17
(3) 17.5
(4) 18

1 Hed 79 v € for 3§ forl <1 o ofiea afe drad Heen § Sier s, o 2 e 36, 28 der4l
T B 8 | < TS AT st o oid e ?

(1) 16.5
(2) 17
(3) 17.5
(4) 18
Options:-
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=1, Option ID :- 445,
=« 2, Option ID :- 446,
= 3, Option ID :- 447,

= 4, Option ID :- 448,
Answer Given:- 3, Option ID : -447

Question ID:- 113

1
A certain sum amounts to ¥ 7,404 in 3 years and to ¥ 9,510 in 75 years, at the same rate percent

per annum, both at simple interest. What is the rate of interest p.a ?

(1) 7.5%
(2) 7.8%
(3) 8.5%
(4) 8.8%

HE U qERT =S W 3 9 H T 7,404 907 ?%mfﬁi 29,510 B S €, Seltep =ar9] g S1fies wiase St
H THE & | 98 i oS g 1 B 2

(1) 7.5%
(2) 7.8%
(3) 8.5%
(4) 8.8%
Options:-

=1, Option ID :- 449,
= 2, Option ID :- 450,
=« 3, Option ID :- 451,

= 4, Option ID :- 452,
Answer Given:- 1, Option ID : -449

Question ID:- 114

The compound interest on a certain sum for the second year and third year are ¥ 3,960 and I
4,356, respectively, at the same rate percent per annum, compounded yearly. The sum (in ) and
the rate of interest (p.a) are respectively :

(1) 30000 and 10%

(2) 36000 and 10%

(3) 42000 and 9%

(4) 45000 and 9%
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el ufer oX g8 99 iR 919 a4 H =ehafe =S A T 3,960 AR T 4,356 3, SAfR AMfts =6 aX
gfeerd SF1 | T9H 2, 3R =1 anfifes Haifed § 198 afe (% #) R =1 <2 (anfiier) o €
(1) 30,000 3iR 10%

(2) 36,000 T 10%
(3) 42,000 3R 9%
(4) 45,000 3TX 9%

Options:-

«1, Option ID :- 453,
= 2, Option ID :- 454,
= 3, Option ID :- 455,

= 4, Option ID :- 456,
Answer Given:- 3, Option ID : -455

Question ID:- 115

A sum of money becomes double of itself in 7 years at a certain rate percent p.a. of compound
interest, compounded annually. In how many years will it become eight times of itself at same rate
of interest ?

(1) 14 years
(2) 21 years
(3) 24 years
(4) 28 years

12 YAt Rt Tengfis = i X ¥ 7 98 H T & g @ 9l ¢, S S anfties Faied g
It =nftfer =t Ui sl & 9, @ fohd- oM H T i Se T 8 S 2

(1) 14 =d
(2) 21 7=
(3) 24 =
(4) 28 =
Options:-

«1, Option ID :- 457,
= 2, Option ID :- 458,
= 3, Option ID :- 459,

= 4, Option ID :- 460,
Answer Given:- 3, Option ID : -459

Question ID:- 116
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The average height of all the students of a class is 148.5 cm. When 12 students of average height
146 cm leave the class, then the average height of the students in the class increases by 1.5 cm.
How many students were there, initially, in the class ?

(1) 22
2) 32
(3) 42
4) 52

fopett amam | off faenfelli st oied @amg 148.5 cm 1 519 12 foeneft foept 2iea @9 146 cm € Fe 912
L TA S &, T 39 Hen & Faenfela it ofrmw @O 1.5 cm 98 St | e § oRy F farae feraneff & 2

(1) 22
(2 B2
(3) 42
(4) 52

Options:-

=1, Option ID :- 461,
« 2, Option ID :- 462,
« 3, Option ID :- 463,

= 4, Option ID :- 464,
Answer Given:- 1, Option ID : -461

Question ID:- 117
Pipe A can fill one-third part of a tank in 6 hours. Pipe B can fill 40% part of the tank in 8 hours.

Pipe C is an emptying pipe. When all the three pipes are opened for 9 hours, then 2 part of the

20
tank is filled. In how many hours can pipe C alone empty the full tank ?
(1) 12
(2) 10
(3) 156
4) 16

g A foreft 2ot & Th-TaeE 9 &l 6 =i § 9T [l © | B9 B SHT 2okl & 40% M &1 8 e T o Tl
T UREY C U Qe A aral 959 8 | <9 di41 91591 =i Uk 919 9 52 & Gl Sl €, d ekl &l %Eﬁ“qm
TS 2 | 918y C Aehell T 9 g2 o @ fohal He W el & Hehall 2

(1) 12
(2) 10
(3) 15
(4) 16
Options:-

=1, Option ID :- 465,
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= 2, Option ID :- 466,
= 3, Option ID :- 467,

= 4, Option ID :- 468,
Answer Given:- 1, Option ID : -465

Question ID:- 118

A and B together can complete a piece of work in 15 days, B and C together can do the same work
in 12 days and C and A together can do it in 10 days. A alone completes one-fourth of the work,

B alone completes % of the work and the remaining work is completed by C alone. In how many

days is the whole work completed ?

(1) 15
(2) 21

3
(3) 27 .
_ 4
4 2
4 29 =

A 3R B U 99 fHeft U &M i 15 {67 § g0 % Hehd 8, B 3 C faerert 39 12 fed ° 921 C 3R A
et 38 10 T Q0 %R Tehd 1 A 3 3Thel -9 T, B Shel HH & % O AR YW HH CH
Fyehel g e | §uof o feae fea o qu g2 ?

(1) 15
2) 21
".',
3 o
(3) 27 =
4
4 =
4) 29 7
Options:-

«1, Option ID :- 469,
=« 2, Option ID :- 470,
= 3, Option ID :- 471,

= 4, Option ID :- 472,
Answer Given:- 3, Option ID : -471

Question ID:- 119

A man covers 30% of his journey at a speed of 45 km/h, 45% of it at 30 km/h and the rest at
x km/h. If his average speed for the entire journey is 40 km/h, then what is the value of x ?

(1) 50
2) 55
3) 60
4) 75
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T Al 3791 AT 3 30%, 45 km/h &1 FTe H, =BT A 45%, 30 km/h 1 =1d § ST F0E01 H1 39 97
x km/h %1 916 | 79 &1 81 Afg 93 A0 § Iuet of|d =6 40 km/h €, 6 a1 HE #1082

(1) 50
(2) 55
(3) 60
(4) 75
Options:-

«1, Option ID :- 473,
= 2, Option ID :- 474,
=« 3, Option ID :- 475,

= 4, Option ID :- 476,
Answer Given:- 2, Option ID : -474

Question ID:- 120

Two trains of lengths 346 m and 254 m cross each other completely in 15 seconds, when they
travel in opposite directions and they cross each other in 1 minute when they travel in the same
direction. The possible speeds of the trains (in km/h), can be respectively :

(I) 108 and 90

(2) 90 and 72
(3) 90 and 60
(4) 108 and 72

31 Yermfear foment @aEar 346 m 3R 254 m § T TR i 15 The § UR Fdl 7, 56 o fauda fom # 9
T € 3l 1 e & yR et €, 579 2w A e | = @ & | Temfed w Hag =t (km/h H) FEE: @
Fﬁh_rﬁ%*

(1) 108 3 90

(2) 90 and 72

(3) 90 and 60

(4) 108 and 72
Options:-

=1, Option ID :- 477,
= 2, Option ID :- 478,
=« 3, Option ID :- 479,

= 4, Option ID :- 480,
Answer Given:- 2, Option ID : -478
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